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K IR ft JE 10. 00| FA % 80 800 972 662 432
@ B | 10.00|Fxr| 70| 700 1,080 1,018 864
N &I 10. 00 | #H%f 36 360 1,188 1,057 810
HOR w5 5. 00| FHxf 32 160| 4,536| 3,476 1,080
H X /S 15. 00| AHxf 405 6,075 1,134 707 11
T D o JE 12. 00 [ ¥A % 421 5,052| 1,080 549 11
E O NAE ™5 4. 00| AR} 56 224 2,160 1,890| 1,836
H % =Y 3. 00| FH*} 122 366 1, 890 1,314 1, 080
H A i)l 1. 00 | #H % 185 185 864 683 432
& | 5.00| f%E| | 55| 2,430| 1,949 1,620
A w5 2. 00 [ FH %} 78 156 1,296 1,220 756
[ 1N 5 5. 00| FA%f 442 2,210 3,024 2,616 1,944
(= S 2. 00| FHxf 20 40| 3,240 3,078 3,024

SR BN 2. 00 [ FHx} 3 6 6, 480
H 7% (= 5. 00 | FHxt 8 401 2,160| 2,025 1,836
B OF g, 10. 00| AHxf 330 3,300 3,888 3,836 2,160
£ A L 10. 00 | #H%f 254 2,540 2,160 1,725 324
L&A L= 10. 00| 4B} 352 3,520 3,240 2,571| 1,404
P=—LF R f& [l 4. 00| AH%F 435 1,740 1,620 1,205| 1,080
TRyl — 8 5 6. 00 | FH*f 39 234| 2,765 2,722| 2,160
& | 6.00 fxt| 21| 126| 2,700 2,685 2,376
AEMEE w5 0. 10| #Hxf | 2,550 255 205 154 65
ZDXH E % 0. 20 | FHx} 990 198 86 70 50
LU E B 0. 20 | FH %} 300 60 97 86 16
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38 Foak L 10. 00 | #H%F 976 9,760 3,672 2,389 1,188
AVava 7 4 U E | 13.00| fH%F 19 247 3,132 2,029 594
bHFEED & [ 0. 27| FHxf 726 195 1,296 868 648
S xE & I 0. 25| ¥H%F 1,783 453| 1,080 593 356
BHDY S 5 0.25| #Hxf | 2,053 513 1,296 648 389




